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3                                                                             3 point problems 

1

By drawing two circles, Mike obtained a figure, which consists of three regions (see pic.). At most 
how many regions could he obtain by drawing two squares?  

(E) 8 (D) 9 (C) 6 (B) 5 (A) 3 

2

12

A round pie can be divided into two equal parts by one straight cut and into three equal parts by 
three straight cuts. At least how many cuts are necessary to divide a round pie into twelve equal 
parts?

(E) 01 (D) 02 (D) 8 (B) 6 (A) 4 

3333

Alexandra has 3 pairs of trousers, 3 T-shirts and 3 scarves. What is the maximum number of 
outfits which she can get?

(E) 100 (D) 18 (C) 27 (B) 6 (A) 9 

41520

30 children from Adventure Park took part in competions. If 15 of them took part in the ”moving 
bridge” contest, and 20 of them went down by tiroliana, how many children from Adventure Park 
took part in both events?

(E) 10 (D) 25 (C) 30 (B) 15 (A) 5 

125

 31

Monica arrived in the Kangaroo Camp on the 25th July in the morning and left the camp on 3rd 
August in the afternoon. How many nights did she sleep in the camp?

(E) 30 (D) 8 (C) 10 (B) 9 (A) 7 

61, 22,111, 3333,11111, ...

Find the rule behind the sequence. What is the next number? 1, 22, 111, 3333; 11111.

(E) 44444 (D) 444444 (C) 111111 (B) 10 (A) 2222 
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7

How many triangles can be seen in the picture below?

(E) 15 (D) 16 (C) 14 (B) 13 (A) 12 

8

(A) (B) (C)   (D)  (E) 

One day after my last birthday I could say “The day after tomorrow is a Thursday. What weekday 
was my last birthday? 

(E) Friday (D) Thursday (C) Wednesday (B) Tuesday (A) Monday 

1K3

(A) G(B) A(C)   2  R (D)(E) 

Jill starts at”K” and jumps from one letter to the next. John starts at the ”3” and jumps 
simultaneously from one character to the next in the opposite direction – as shown in the figure. 
At what character are they simultaneously? 

 

(E) There is no such character (D) R (C) 2 (B) A (A) G 

10

Franz is coloring geometric shapes. He has drawn a square. He has put little circles in each corner 
and thick lines on each side. He wants all circles and all lines to have different colors. How many 
colors does he need?

(E) 12 (D) 16 (C) 8 (B) 6 (A) 2 

 

99

 

Counting the train cars from the locomotive to the last car, Sara realizes she has a reserved seat 
in the 21st car. Counting the train cars from the last car to the locomotive, she realizes she has 
the same reserved seat in the 7th car. How many cars does the train have?  

 

(E) 31 (D) 29 (C) 27 (B) 25 (A) 28 
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122012462929

382723

In London 2012 USA won the most medals: 46 gold, 29 silver and 29 bronze. On the second 
place was China with 38 gold, 27 silver and 23 bronze. With how many medals won USA more?

(E) 26 (D) 24 (C) 16 (B) 14 (A) 6 

13

Ann walks in the direction of the arrow. First she goes to the right, then to the left then ‎again to 
the left, then to the right then to the left, and finally again to the left. Then Ann ‎has walked 
towards

(E) e (D) d (C) c (B) b (A) a 

14

 

 
On a road these equilateral triangles indicate that you have to give way to the traffic on 
a ‎crossing road. The space between two of these triangles is as long as the size of a triangle. ‎We 
look at seven of these triangles and the part of the road between them (grey in the ‎picture).‎ 
 How many percent in this picture is triangle?‎

(E) 37 (D) 32 (C) 28 (B) 25 (A) 20 

91 

4? 5? 104  

Which digit must be substituted for the question mark to make the calculation? 

(E) 8 (D) 7 (C) 5 (B) 4 (A) 2 
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9629

Maria and Jane were collecting strawberries. Maria collected 21, Jane three times as many as 
Maria. As they are good friends, they divided all the strawberries equally in two halves. How 
many strawberries had each one of them?

(E) 48 (D) 42 (C) 32 (B) 24 (A) 12 

1736

Daniel had a package of 36 candies. He divided all the candies equally among all his friends. How 
many friends he could not have there for sure?

(E) 2 (D) 3 (C) 4 (B) 5 (A) 6 

18

Justin built up an object from cubes. How many cubes did he use  

(E) 7 (D) 8 (C) 9 (B) 10 (A) 11 

19629

3

When Pinocchio lies, his nose gets 6 cm longer. When he says the truth, the nose gets 2 cm 
shorter. When his nose was 9 cm long, he said three lies and two true sentences. How long was 
Pinocchio’s nose afterwards?

(E) 14cm (D) 15cm (C) 19cm (B) 23cm (A) 14cm 

20

Eight regular dice are clued together to form a cube. What is the maximum of pips it can be on 
one side?

(E) 18 (D) 20 (C) 21 (B) 23 (A) 24 

292012589

In London 2012 in the group stage the american men basketball team gets 589 point in 5 games. 
If the ball fall in to basket, the team get 1, 2 or 3 point. Minimum how many time was thrown 
the ball by US-players in to basket in this 5 games

(E) 199 (D) 198 (C) 197 (B) 196 (A) 195 
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22 

Misha measured the lengths of 5 sticks and wrote down the results. Which of his results is the 
largest? 

(E) 302mm (D) 3cm 7mm (C) 35 mm (B) 3dm 2cm (A) 3cm 

23325

105 

(A)  (B)  (C)  (D)  (E)  

About the number 325, five boys said: Andrei: ”This is a 3-digit number”; Boris: ”All ‎digits are 
distinct”; Vitya: ”The sum of the digits is 10”; Grisha: ”The digit of units is 5”; ‎Danya: ”All digits 
are odd”. Who of the boys was wrong?‎ 

(E) Danya (D) Grisha (C) Vitya (B) Boris (A) Andrei 

22

 

Peter travelled from Lisbon to New York. The flight departed from Lisbon at 12:30 (local ‎time) 
and arrived in New York at 15:40 (local time). If in New York is 5 hours earlier ‎than in Lisbon, 
which was the duration of the flight?‎ 

(E) ‎8h 10m‎ (D) ‎7h 10m‎ (C) ‎5h ‎ (B) ‎3h 10m‎ (A) 1h 50m 

21

 

 
The letters of the word KANGAROO have been written to the grid like has been showed in ‎the 
diagram. Let say that two squares are adjoining squares if they have the same point. ‎Which 
answer below represents the grid where no letter has been placed neither in the ‎same nor 
adjoin square compared with the initial diagram?  ‎ 

21

  (E) ‎‎‎

 

(D) ‎‎ 

 

(C) ‎‎ 

 

(B) ‎‎ 

 

(A)  
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26

In the following figures white, grey and black kangaroes are represented. In what figure the 
number of black kangaroos is greater than the number of white ones? 

 
(E)

 
(D)

 

(C)
 
(B)  

 
(A)  

27

 
The rectangular mirror was broken into some pieces. Which of the following pieces is 

 
(E)

 
(D)

 

(C)
 

(B)  

 
(A)  

 

28 
(A) Alice, David, 
Emma, Hannah, 

John 

(B) Alice, Emma, 
Hannah, David, 

John 

(C) John, Hannah, 
Emma. David, Alice 

(D) David, John, 
Alice, Emma, 

Hannah 

(E)  

Paula decided to order her friends on the playground by height alphabetically. What is ‎the 
correct order?‎ 

‎(E) Unable to 
determine‎ 

‎(D) David, John, 
Alice, Emma, 

Hannah 

‎(C) John, Hannah, 
Emma. David, Alice 

‎(B) Alice, Emma, 
Hannah, David, 

John 

‎(A) Alice, David, 
Emma, Hannah, 

John 

21

(A) (B)  (C)  (D)  (E)  

When climbing, you have to follow the three-point rule, which means the climber is supposed to 
maintain three limbs in contact with the rock. Which option below is incorrect? 

21

‎(E) hand, foot, 
foot 

‎(D) hand, hand, 
hand 

‎(C) foot, foot, 
hand 

‎(B) hand, foot, 
hand 

‎(A) foot, hand, 
hand 
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30

Jonas, Vera, Alina and Tom are on a bicycle tour. After they climbed a steep mountain ‎Alina 
opens a bag with sweets. She counts 16 sweets and gives the same number of ‎sweets to each of 
the bikers including herself. How many sweets does each biker get?‎

(E) 7 (D) 6 (C) 5 (B) 4 (A) 3 

31

There are three families in my neighborhood with 3 children each, two of these have ‎twins. All 
twins are boys. How many girls are in these families at most?‎

(E) 6 (D) 5 (C) 4 (B) 3 (A) 2 

32

(A) (B)  (C)  (D)  (E)  

When coming home my siblings and me arrange our shoes in front of the door. Eva’s ‎shoes are 
smaller than Jan’s but bigger than David’s. Lisa’s are bigger than mine but ‎smaller than David’s. 
Who has the biggest shoes?‎ 

‎(A) Eva ‎(B) Jan ‎(C) David ‎(D) me ‎(E) Lisa 
 

33

Rmi arrived 25 minutes late. Jules arrived just in time at 15:45. Quentin arrived a ‎quarter 
of an hour before Rmi. At what time did Quentin arrive?‎ 

‎(A) 15:05‎ ‎(B) 15:45‎ ‎(C) 15:55‎ ‎(D) 16:05‎ ‎(E) 16:20‎ 

34 

  

Which of the following has fewer axes of symmetry?‎ 

(A) A (B) B (C) C (D) D (E) E 
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355199115191135

(A) 

11

(B)  

2004

6 

(C)  

2004

16

(D)  

16

 

(E)  
 

Sue was born on the 5th of March, 1998, and Robert was born on the 15th of 
December, ‎‎1987. Which of the following is true?‎ 

‎(E) 
‎ None of 

the above.‎ 

‎(D) 
‎ When 

Sue was born, 
Robert was 11 

years old.‎ 

‎(C)‎  
On the 5th of 
January, 2004, 
Robert was 16 

years old.‎ 

‎(B)‎‎

‎On the 5th of 
January, 2004, 

Sue was 6 years 
old.‎  

‎(A)‎  
Sue is 11 years 

older than 
Robert.‎ 

36922

How many odd numbers are there between 9 and 22?‎

)A) 8‎ ‎(B) 7‎ ‎(C) 6‎ ‎(D) 5‎ ‎(E) 4‎ 

37
6حضر

  

6 boys came to John’s 10th birthday party. Each boy takes a seat around the round table so that 
between each two boys sits one of the girls who have just arrived. At least how many pieces to 
cut the cake so that each receives at least one piece? 

(A) 7 (B) 10 (C) 11 (D) 14 (E) 20 

3821

Mother has bought 21 apples. Ivana has eaten one third of the apples, Ana has eaten eight and 
Ante the rest of the apples. How many apples has Ante eaten?

(A) 3 (B) 9 (C) 11 (D) 6 (E) 7 

3124

Mother has baked a cake for Petra and she has cut it in 24 equal pieces. Father has eaten one 
half of the cake, brother has eaten two pieces and Petra three pieces. How many pieces of the 
cake is left?

(A) 3 (B) 10 (C) 7 (D) 9 (E) 8 
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28

If Frank was in the bakery bought two rolls, left him two coins, but if he bought three rolls he 
owes three coins. What is the price of the one roll?

(A) 2 (B) 3 (C) 4 (D) 5 (E) 6 

29
I write the sum of three natural numbers greater than 0, and the result is 2013. Which is the 
major possible of one of these numbers?

(A) 571 (B) 671 (C) 2012 (D) 2010 (E) 2011 

221993

How many natural numbers between 1 and 99 can be written using only one digit 3?

(A) 99 (B) 70 (C) 19 (D) 18 (E) 14 

235910

48

In his shop, Pedro has three kind of boxes to pack 5 oranges, to pack 9 oranges or to pack 10 
oranges. If he wants to pack 48 oranges, which is the least quantity of boxes he can use?

(A) 8 (B) 7 (C) 6 (D) 5 (E) 4 

2220:15102040

At 20.15 Anna set up an alarm clock to wake her up after 10 hours and 20 minutes. Next 
morning she woke up 40 minutes before the alarm. When did Anna wake up?

(A) 5:55 (B) 6:15 (C) 6:35 (D) 6:55 (E) 7:15 

34

Carolin’s mother has 2 brothers and 3 sisters, each of them has at least one child. Carolin has 3 
male cousins and 4 female cousins. At most how many sisters can have Carolin’s female cousin?

(A) 1 (B) 2 (C) 3 (D) 4 (E) 5 

26

In the block of flats with three floors there are four flats in each floor. Each flat has 6 windows. 
There are additional 2 windows in the corridor of each floor, except in the first floor where there 
is only one window. How many windows does the building have?

(A) 35 (B) 77 (C) 83 (D) 95 (E) 105 
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27

Hairdresser Luke needs 30 minutes to make a hairstyle for a man, and 1 hour and a half to make 
a hairstyle for a woman. One day, three women made an appointment at the Hiardresser. How 
many men can Luka appoint in addition, if he will work for 6 hours?

(A) 1 (B) 3 (C) 6 (D) 11 (E) 12 

28

` There are 13 trees in a row. If we keep the first tree and cut the second down, the 
fourth, the sixth, etc. How many trees remain standing?

(A) 8 (B) 7 (C) 6 (D) 9 (E) 4 

21

There are 13 trees in a row. If we keep the first tree and cut the second down, the 
fourth, the sixth, etc. How many trees were cut down? 

(A) 8 (B) 7 (C) 6 (D) 9 (E) 4 
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18

Techi’s storybook has 20 leaves. His little brother took out 3 leaves of her book. 
How many pages remain in the book?

(A) 11 (B) 32 (C) 30 (D) 28 (E) 26 

19

Vero’s mum prepares cheese and ham sandwiches. A package of bread has 24 
slices. How many sandwiches can she prepare with two and a half packages?

(A) 24 (B) 30 (C) 48 (D) 34 (E) 26 

52

Which of the following pieces covers the largest number of dots in the table? (Piece 
must lie completely on the table.)

(A)  

 

(B)  

 

(C)  

 

(D)  

 

(E)  

 
 

  

almanahj.com/sa



    

16 
 

4                                                                             4 point problems 

5335

How many four-digit numbers have the sum of the digits 35?

(A) 3 (B) 0 (C) 4 (D) 1 (E) 2 

54 

Follow the algorithm for addition the elements of the series. Find the number that the symbol 
”?” replaces. 

(A) 0 (B) 6036 (C) 8048 (D) 6012 (E) 8012 

11{[(a + 1) - 2] · 3} : 4 = 6a + a · a + a · a · a + a · a · a · a 
If {[(a + 1) − 2] · 3} : 4 = 6, then a + a · a + a · a · a + a · a · a · a = ...

(A) 7380 (B) 7480 (C) 8480 (D) 738 (E) 6480 

161010

Find the sum of all the numbers which divided by 10 give 10 as the quotient.
(A) 2045 (B) 1054 (C) 100 (D) 1045 (E) 2054 

17

One of my grandmothers has two daughters and the second grandmother has two 
daugh- ters and one son. Each of my aunts has two children. Me, my two siblings and all 
children of my aunts are playing together outdoors. How many children are playing 
outdoors?

(A) 8 (B) 9 (C) 10 (D) 11 (E) 12 

18

9294939695

 

In a book each chapter begins on the new page and after the end of each chapter there 
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is one page with illustration. Chapter 2 consist of 22 pages, chapter 3 of 26 pages and 
chapter 4 of 21 pages. On which page does chapter 5 begin if we know that chapter 2 
begins on page number 24? 

(E) On page 
number 95. 

(D) On page 
number 96. 

(C) On page 
number 93. 

(B) On page 
number 94. 

(A) On page 
number 92. 

11

John has thought of a three-digit number in which the sum of all digits is equal to 10. He 
has multiplied it by 9 and become a three-digit number. What number has John thought 
of?

(A) 208 (B) 307 (C) 109 (D) 406 (E) 505 

68

Hanna is telling Abed about numbers. She is thinking about a certain number. She says 

that this number together with half of the number is 24. What number is she thinking 
about?

(A) 2 (B) 4 (C) 12 (D) 16 (E) 18 

69

Dad has a basket of marbles. The number of marbles is less than 20. If Dad divides the 
marbles amongst four children, 3 marbles are left. If Dad divides the marbles amongst 
three children, 2 marbles are left. If Dad divides the marbles amongst two children, 1 
marble is left. How many marbles are there in the basket?

(A) 7 (B) 11 (C) 15 (D) 17 (E) 19 

62

Using 15 matchsticks Sophie made a row of 7 triangles. How many matchsticks will 

Sophie need to make such a row of 21 triangles?

(A) 40 (B) 41 (C) 42 (D) 43 (E) 44 
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63

50.00040.000

110.000

After the Olympics last year in a certain country the athletes were paid some money for 

each medal. Albert won 2 silver and 1 bronze medal and received 50.000 EUR. Ben won 
1 silver and 2 bronze medals, he received 40.000 EUR. Carl won 1 bronze and 2 gold 
medals and got 110.000 EUR paid. Damian won 2 bronze and 1 gold medal. How much 

money did he receive? 
(A) 70.000 EUR (B) 80.000 EUR (C) 90.000 EUR (D) 100.000 

EUR  
(E) 110.000 

EUR 

62

Ann has turned around a building block like the one in the picture at the right hand. She 
puts it exactly before the one in the picture. How does the result look like? 

61335610

Father is 33 years old. His three sons are 5, 6 and 10 years old. In how many years will the 

three sons together be as old as their father?

(A) 4 (B) 6 (C) 8 (D) 10 (E) 12 
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66

     

Children in the school club had to arrange fitness balls according to their size from the 
biggest to the smallest one. Rebecca was comparing them and said: the red ball is smaller 

than the blue one, the yellow one is bigger than the green one, the green one is bigger 
than the blue one. What is the correct order of the fitness balls? 

(E) blue, yellow, 
green, red 

(D) yellow, 
green, blue, red 

(C) yellow, green, 
red, blue 

(B) red, blue, 
yellow, green 

(A) green, 
yellow, blue, red 

6796

     

. Pirates shipped out of the island to the Mediterranean sea at exact noon. They sailed 

for 96 hours. How many nights did they spend at sea? 
(E) Five times. (D) Four times (C) Three times (E) Five times. (A) Once. 

68

2 m 6 dm 3 cm 2 mm260 cm 23 mm

26 dm 2 cm 3 mm2 m 3 dm 62 cm

2 m 6 dm 63 mm

The winner of the Big Snail Race was the snail that covered the longest distance in three 
hours. The judges measured these distances: snail A: 2 m 6 dm 3 cm 2 mm, snail B: 260 

cm 23 mm, snail C: 26 dm 2 cm 3 mm, snail D:2 m 3 dm 62 cm, snail E: 2 m 6 dm 63 mm. 
Which snail was the winner?

(A) A (B) B (C) C (D) D (E) E 

61258

The princess got a necklace with 25 jewels - sapphires, rubies, emeralds and amethysts. 
There were 8 sapphires. There were 3 less rubies than sapphires. The number of 

emeralds and amethysts in the necklace was the same. How many amethysts were 
there?

(A) 5 (B) 6 (C) 8 (D) 12 (E) 13 
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781, 2, 3, . . . , 2012, 2013

Leo writes in arrow the number 1, 2, 3, . . . , 2012, 2013. Which number is in the middle 
position?

(A) 1005 (B) 1006 (C) 1007 (D) 1008 (E) 1013 

7936366638

2030

The number 36 has the property that it is divisible by the digit in the unit position, 
because 36 divided by 6 is 6. The number 38 does not have this property. How many 

numbers between 20 and 30 has this property?
(A) 2 (B) 3 (C) 4 (D) 5 (E) 6 

72

Joining the mid points of the sides of a first square we obtain a second square. We 

repeat this until the fifth square. How many of the small squares fit in the first one?
(A) 5 (B) 8 (C) 10 (D) 16 (E) 32 

7310 ×20 m

There is a track of competitions which is made out of rectangles 10 20 m. A kangaroo 

should move from the start to the finish so that she passes points A, B and C in this 
order and being no more than one time at each of these three points. How many meters 

should the kangaroo pass at least?  
(A) 170 m (B) 180 m (C) 190 m (D) 200 m (E) 210 m 
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72, , , ,O N M L K

KLK L

MNO

1945. Kangaroos K, L, M, N and O stand on line and make jumps in this order. Every 
kangaroo reaches always with one jump to next free square. In which order are the 
kangaroos from left to right when K and L have made 3 jumps, M and N 2 jumps and O 
one jump? 

(A) OKMLN (B) OKLMN (C) OMLKN (D) OMLNK (E) OMKLN 

71

There are two discs with the same centre and the shaded disc is rotatable. It can be 
rotated so that after rotating the lines from centre of both discs overlap. On the picture 
there is no sector where letters coincide on shaded and unshaded disc. Find the biggest 
number of sectors where letters on shaded and unshaded discs coincide after rotating.  

(A) 2 (B) 3 (C) 4 (D) 5 (E) 8 

761993152013

1 15031993 2 15031994 3 15031995 ..... 15032013

 

Mary was born on March 15th 1993. Today, on March 15th 2013 she wrote 1 15031993 

2 15031994 3 15031995 ..... 15032013. How many digits were in the row? 
(A) 180 (B) 189 (C) 191 (D) 198 (E) 201 

  

E
c
o
li

e
r 
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7720/02/200312/04/200312/05/2003

 25/05/2003

  

Andy, Betty, Cathie and Dannie were born on 20/02/2003, 12/04/2003, 12/05/2003 and 
25/05/2003 (day/month/year). Betty and Andy were born in the same month. Andy and 
Cathie were born in the same day of different months. Who of these children is the 
oldest?

(E) impossible 

to determine 

(D) Dannie (C) Cathie (B) Betty (A) Andy 

78

Jamie’s father tiled the rectangular bathroom floor with square tiles as shown in the 
picture. For the boundary he had to cut some tiles in half, but fortunately only a few. 
How many?

(A) 3 (B) 4 (C) 6 (D) 7 (E) 10 

71 3 cm2 cm1 cm

Ella wants to build a cube using bricks that are 3 cm long, 2 cm high and 1 cm wide. How 
many are needed if the cube should be as small as possible?

(A) 6 (B) 9 (C) 12 (D) 20 (E) 36 
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Which of the following pieces fits to the piece on the right picture such that together 
they form a rectangle?

891, 2, 3, 4, 5, 6, 7, 8, 9, 10

3

Nick wrote out the numbers 1, 2, 3, 4, 5, 6, 7, 8, 9, 10. He underlined 3 odd numbers, 

and then underlined 2 other numbers divisible by 3.  After that,    he found the sum of 
the 5 numbers underlined. What is the smallest number he could obtain?

(A) 15 (B) 20 (C) 22 (D) 24 (E) 25 

82

In December Tosha-the-cat has slept exactly 3 weeks. How many minutes did he stay 
awake?

(A) (31 − 1) · 3 · 
24 · 60 

(B) (31 − 1 · 3) · 
24 · 60 

(C) (30 − 1 · 3) · 
24 · 60 

(D) (31 − 1) · 24 
· 60 

(E) (31 − 1 · 3) · 
24 · 60 · 60 

832013

After 2013, how many years will pass before the following event happens for the first 

time: the product of digits in the notation of the year is greater than the sum of these 
digits?

(A) 87 (B) 98 (C) 101 (D) 102 (E) 103 

8217

Mother bought 17 cones of ice-cream for her three children. The number of cones eaten 

by Misha is twice the number of those eaten by Masha. Dasha has eaten more ice-
cream than Masha but less than Misha. How many cones of ice-cream have been eaten 
by Dasha

(A) 4 (B) 5 (C) 6 (D) 7 (E) 8 

almanahj.com/sa



    

24 
 

 

81

          

John, Mark and George live in houses of different colours: red, blue and white. One of 
them plays football, the other plays basketball and the third plays tennis. We know that 
John lives in the red house, Mark is the one who plays tennis and that the basketball 
player lives in the white house. Which house does George live in and which sport does 
he play? 

(E) the red 
house, football 

(D) the white 
house, 

basketball 

(C) the white 
house, tennis 

(B) the blue 
house, tennis 

(A) the red 
house, tennis 

86 

Three friends Ana, Iva and Tea have decided to buy new dresses. Each one of them has 

bought a dress in her favourite colour. Ana and Iva haven’t bought the red dress. The 
one who was finished with the shopping first likes green. The one who was finished with 
the shopping last likes white but she isn’t Ana. Iva isn’t the second. Who was the first 
one to finish? Who was the second one to finish? Who was the third one to finish? From 
the first to the last. 

(E) Iva,  Tea,  
Ana 

(D) Tea,  Iva,  
Ana 

(C) Ana, Tea,  
Iva 

(B) Iva,  
Ana,Tea 

(A) Ana, Iva,  
Tea 
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1                                                                              point problems1 

87 42013

01

All 4-digit positive integers with the same four digits as in the number 2013 are written in one line 
without gaps and in an increasing order. How many times does the pattern ’01’ appear in this 
sequence of digits? 

(A) 3 (B) 4 (C) 5 (D) 6 (E) 8 

88(11+22+33+...+99) : (1+2+3+...+9)-(1+2+3+...+9) : [(15·15) : (3·3)+2·2·5] = ..

(11+22+33+...+99) : (1+2+3+...+9)−(1+2+3+...+9) : [(15·15) : (3·3)+2·2·5] = ... 

(A) 1 (B) 10 (C) 0 (D) 11 (E) 9 

8910123456

78910

Cristi has to sell 10 glass bells that vary in size: 1 euro, 2 euro, 3 euro, 4 euro, 5 euro, 6 euro, 7 
euro, 8 euro, 9 euro, 10 euro. In how many ways can you divide all the glass bells in three packets 
so that all the packets have the same price? 

(A) 2 (B) 0 (C) 3 (D) 4 (E) 1 

 

90183028

There are apples, apricots and peaches in a big basket. If there are 18 peaches and 
apricots, 30 fruits are not apricots and 28 are apples and apricots, how many fruits are 
there in the basket? 

(A) 46 (B) 20 (C) 40 (D) 38 (E) 29 

 

191dm

Bogdan has a puzzle composed of identical squares whose size length is 1 dm (see the 
picture). If the puzzle continues with three more rows of squares of the same size 

(following the pyramid-shaped structure), then the perimeter of the figure thus obtained is
(A) 340 cm (B) 430 cm (C) 200 cm (D) 400 cm (E) 34 cm 
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In a chest of drawers there are four drawers (see the picture).  In each of the drawers 
there are one of the following things: a hat, a scarf, gloves, an umbrella. Gloves are lying 
lower than scarf. Umbrella is lying lower than hat and than gloves. Scarf is not lying in 
the highest drawer. Which of the pictures below does present this chest of drawers? 

138 5

A network of squares 8 5 can be built from pieces of a single type (see example above). 
Which of the following types of components can the network be built with? 
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121001 1

 A rectangular path counts 100 tiles of 1  1 meter. How long is the outer edge? 
(thick in the picture)

(A) 96 m (B) 98 m (C) 100 m (D) 102 m (E) 104 m 

11

36124

At an election with five candidates all of them got another number of votes. 36 votes 
were given, no abstentions. The winner got 12 votes, the number last got 4 votes. How 
many votes got the number second?

(A) 8 (B) 8 or 9 (C) 9 (D) 9 or 10 (E) 10 

16400400

A train of length 400 m enters with a velocity of 400 m/min a tunnel with length 400 
m. How many minutes later is the train out of the tunnel?

(A) 1 (B) 2 (C) 4 (D) 5 (E) 8 

17

(A) 2 (B) 4 (C) 6 (D) 8 (E)ذلك ليس ممكنا 

 Ann has a lot of pieces like the one in the picture. How much of these pieces do you 

need at least to make a square? 

(E) that is 

impossible 

(D) 8 (C) 6 (B) 4 (A) 2 
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18543211

1

Iryna multiplies numbers by 5, Daryna adds 4, Volodya subtracts 3 and Petryk divides by 
2. In what order do they need to perform their operations to get 1 from 11? 

(E) Volodya, 
Daryna, Petryk, 

Iryna 

(D) Daryna, 
Iryna, Volodya, 

Petryk 

(C) Iryna, Petryk, 
Volodya, Daryna 

(B) Iryna, 
Volodya, Daryna, 

Petryk 

(A) Iryna, 
Daryna, Volodya, 

Petryk 

117

4

A garden architect made a plan for tree planting in the rectangular park: plant one poplar in each 
park corner, plant seven pines to the centre of the park, along the border there shall be four lime-
trees in-between every two poplars. How many trees are they going to plant according to this plan?

(A) 16 (B) 23 (C) 27 (D) 34 (E) 36 

988603533

There were 60 cats in the yard. 35 of them had stripes, 33 had one black ear. At least 
how many cats had stripes and one black ear for sure? 

(A) 2 (B) 8 (C) 25 (D) 27 (E) 33 

989456

The palace has four floors, each floor has 5 rooms and in each room there are 6 windows. 
During the birthday celebration of the princess there were 2 flags in every second window. 

How many flags in total were there in the windows?

(A) 15 (B) 60 (C) 80 (D) 120 (E) 240 
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98220:132013

The digital clock in the room showed 20:13 when the chess game started. It was finished 

20 hours and 13 minutes later. Then the digital clock showed

(A) 20:13 (B) 16:13 (C) 15:26 (D) 16:26 (E) 20:26 

9833

In a camp 3 sportmen was talking eachother: Andras, Balazs and Csaba. They sportart are 
running, swimming and gymnastic. They are from 3 different city. The name of the 

swimmer from Debrecen is not Csaba. Csaba is not from Pecs. Balazs is not a runner and 
he is not from Gyor. The boy from Gyor is not a runner. What is the sportart of Andras 

and where is he from?

(E) gymnastic, 
Debrecen 

(D) swimming, 
Debrecen 

(C) running, 
Gyor 

(B) running, 
Pecs 

(A) gymnastic, 
Pecs 

9822013

2099

In the number 2013 the sum of the first three digits is equal to the fourth digit. In the 
future years, how many times till 2999 the notation of the year will possess the same 
property?

(A) 6 (B) 13 (C) 18 (D) 25 (E) 34 

9811, 3, 5, 7, 9

Using the digits 1, 3, 5, 7 and 9 Eddy made three various two-digit numbers (any of the digits is used 

exactly once). To what of the following values the sum of these three numbers cannot be equal?

(A) 89 (B) 201 (C) 185 (D) 213 (E) 182 

98605.05.200726.10.2013

How many neighbour couples of months with an equal number of days are there in the 
period  05.05.2007  - 26.10.2013?

(A) 7 (B) 9 (C) 11 (D) 13 (E) 14 
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9873660

9

Peter bought a carpet 36 dm long and 60 dm width. The carpet is composed, as can be 
seen in the figure, of small square containing either a sun or a moon. You can see that 
along the width there are 9 squares. When the carpet is fully deployed, how many 
moons there will

(A) 75 (B) 67 (C) 65 (D) 63 (E) 60 

988

Many guests came to Nadya’s birthday party. More than half of them were boys, and 

the name of more than one third of the boys was Fedya. Altogether, there were three 
Fedya’s. What is the largest possible number of guests that could have been at Nadya’s 

birthday party?

(A) 12 (B) 13 (C) 14 (D) 15 (E) 16 

981

1300

Vasya wants to make several cards with digits (one digit on each card) so that with them 
he could compose any collection of four distinct numbers between 1 and 300. What is 
the smallest number of cards he needs to make?

(A) 20 (B) 60 (C) 70 (D) 74 (E) 82 
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Basil has several domino tiles drawn in the figure. He wants to arrange them in a line 
according to the following ”domino rule”: in any two neighboring tiles, the neighboring 
squares must have the same number of points. What is the largest number of tiles he 
can arrange in this way?

(A) 3 (B) 4 (C) 5 (D) 6 (E) 7 

999012013

2013

Baby Roo can write only two digits: 0 and 1. He wrote down several numbers the sum of 
which is 2013. It turned out that it is impossible to get the same sum with a smaller number 

of summands of this sort. How many numbers were written by Baby Roo?

(A) 2 (B) 3 (C) 4 (D) 5 (E) 204 

992

6

(A) 

 

(B) 

 

(C) 

 

(D) 

 

(E)  
 الحالة مستحيلة

Mary has six shapes (see the figure). She wants to use all of them but one to compose a 
square and a rectangle. What shape will not be used if one of the rectangle’s sides must 

be 6 cells long?  

this situation is 

impossible 

993200

Basil cut a wooden cube into identical smaller cubes and arranged the smaller cubes in a straight 
line of length 200. How long is the side of the initial cube if the side length of the smaller cube is 
an integer?

(A) 5 (B) 10 (C) 25 (D) 50 (E) 100 
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99217

99

D E M H A 

5  4  3  2  1 

 6  7  8  9  

13  12  11 10   

 14  15  16  17  

21  20  19  18   

 22  23  24  25  

   26   

     

     

Simon counts the letters of his name the right way and back again, over and over, as 

indicated. Number 17 is in this way given to the letter S. Which letter is given to number 

99?

(A) S (B) I (C) M (D) O (E) N 

991

(9 + 4 × 6) × 5 + 7 × 8 = 2013 (A)  

9 + 4 × 6 × (5 + 7 × 8) = 2013 (B)  

(9 + 4 × 6) × (5 + 7 × 8) = 2013 (C) 
9 + 4 × 6 × 5 + 7 × 8 = 2013 (D)  

 (E) 

Which of the following equalities, in each of which appear once each of ten digits, 0 

through 9, is correct?

(A) (9 + 4 × 6) × 5 + 7 × 8 = 2013 
(B) 9 + 4 × 6 × (5 + 7 × 8) = 2013 

(C) (9 + 4 × 6) × (5 + 7 × 8) = 2013 
(D) 9 + 4 × 6 × 5 + 7 × 8 = 2013 

(E) None of the above is correct 

99610109.2

In a test in which the maximum was 10 points, the average of 10 students was 9,2 

points. What is the lowest note that could get one of 10 students?

(A) 2 (B) 9 (C) 9,2 (D) 4 (E) 0 
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